Q Solution Marks | Total Comments
S(a)
dx+3y<33 M1
-x+y<4
2x+5y <27 Al 2
(b) = Alternative
4* 3 1 0 0 0 33 (R) P n y r s t u
-1 1 01 0 0 4 (R 1 b-z 0 0 0 0
5 0 3 1 0 0 33 M
2 5 0 0 1 027 (Ry) 0 11 0 1 o0 4
-2 2 0 0 0 1 0 o 2 5 0 0 1 27
1 1 33
Pivot about x, 4 1 0 5 3 0 0 el M1
4 3 1 00 033 R M1 b ¢t 2 e B &
0 7 1 4 0 049 4Ry#R; |ml ‘?‘ ‘l* :fg
* MR -— o & EE
0 7 1 0 2 0 21 2R+—Ry Al 0o 0 - i 1 0 1
0 -1 1 0 0 2 33 2R4s+Ry 1 21
0 0 E 0 1 ? MI
Pivot about x, 7 M1
3 ) o 7}
28 0 10 0 —6 0 168 7R;-3R; ml i 0o 0 2 o I @ ml
00 2 4 -2 0 28 R—R; 7_ 7
07 -1 02 0 21Rs B0 = b &
Al 14 14
0 0 6 0 2 14 252 TR4+Rs 1 1
0 0 0 E 1 =g 7 Al
All positive, therefore optimal Bl 7 | 5
0 0 I == 0 = 3 Bl
. 7
() | 14P =252
P=18 Bl
y=3, x=6 Bl 2 for both
Total 11




Q Solution Marks | Total Comments
4 @| x y z r s P
8§ 5 1 0 03
4 6* 9 01 02
) ; Bl
-4 -5 -3 00 1:0 Bl 2
(b) | Pivot y, 6
R, 4 6 9 0 1 0 M1 Choosing pivot
| .
6R,-5R, 28" 0 -33 6 -5 0} 8 M1 Attempt zeros
|
6R,+5R, -4 0 27 0 5 6:10 Al CAO
Pivotx, 28
TR,-R, 0 42 96 -6 12 0 6 M1 As above
R, 2860 0 -33 6 -5 0 8 MI
TR, +R, 0 0 156 6 30 42:78 .
) - ' Al CAO
All +ve .. optimal Ml
P=E=£ AIF If all +ve
42 7
z=0
g8 2
X =—=—
28 7
6 1
Y 42 7 AIF 9 As fractions
Total 11
Q Solution Marks | Total Comments
8a) |P x y s t u Bl Choice of pivot
@ [1 00 0 1% % 18 Bl Pivot — 1
0 00 1 % » 14 M1 Row manipulations
0O 01 0 % -4 3 Al
0 1 0 0 % % 12 Al 5
(ii) | Still a negative in top row Bl 1
(b)(i) | ’s maximum is 25 Bl
Reached at (5,10) Bl 2
(i) | 7p:0 Bl Any two
T:D Bl Another
h:C Bl 3 Another
T3 - B
(iii) | Start by pivoting in y’s column M1
Al 2
Total 13
Paper total 80




